
Scope of delivery: 2 cartons
Content: 2 side sections, 1 backrest, 1 seat section, 1 box with accessories and assembly material (4 confirmat
screws 7 x 70 mm, 2 confirmat screws 7 x 50 mm, 6 cone plates, 1 hexagonal Allen key, 1 bottle of glue, 
1 non-woven sanding fleece, 1x sandpaper)

Before final assembly, we recommend that you CARRY OUT A TRIAL ASSEMBLY WITHOUT GLUE! This is advisable since
it is very difficult to detach individual parts again once glue has been applied to the dowels, as the glue causes
the wood to swell. Final assembly should be performed quickly and in one uninterrupted process!

ASSEMBLY
1. Place one side section horizontally on the ground (with the drilled holes facing upwards).
    Using the glue bottle, moisten the walls of all 3 holes with glue.
2. Fit seat section flush onto the side section.
3. Fit backrest flush onto side section. Caution: convex face of the backrest is at the front.
4. Analog to Fig. 1: moisten walls of the drilled holes in the second side section with glue,
    fit side section onto seat section and backrest!

FITTING SCREWS
Immediately after fitting the parts together and with the bench still in vertical position, attach the side section
tightly to the seat section using two screws (7 x 70 mm) and to the backrest using one screw (7 x 50 mm). Now
place the bench in horizontal position and screw the other side section tight as described above.

COMPLETING ASSEMBLY
The cone plates are glued into the six drilled holes to seal them off. Match the grain of the plates and the side of
the bench! Once the glue has hardened, the plates can be leveled or sanded down.

ASSEMBLY  INSTRUCT IONS

V I K T O R I A N  B E N C H

1

2

3 4


